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(2) 1If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.
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1. Cavity spot is a serious problem in which of the following?
(1) Cabbage (2) Radish (3) Carrot (4) Turnip

2. Cabbage head is a variety of
(1) Cabbage (2) Lettuce
(3} Chinese cabbage (4} Red coltfings.

(163) . {P.T.0,}
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3. Kashi Ganga is a variety of
(1) bottle gourd (2) French bean (3) carrot (4) radish

4. In vegetable pea, the presence of sugar is ‘about

(1) 8% @) 46% (3) 10% @) 12%

~ 8. The harmful element in Palak is
(1) chloride (2) bramide
{3) sulphate {4) nitrate and oxalate

6. The botanical name of tomato is
(1) Lycopersicon esculentum Mill.
(2) Lycopersicon esculentus L.
(3) So!anunf Lycopersicon (Mill.) Wettsd.

(4) Solanum Lycopersicum E;

7. Fabaceac is the new family of

(1) carrot ' (2) radish (3) turnip . {4) pea '

8. Approximate nursery size for a raising onion seeding is

(1) 1/10 ha (2) 1/20 ha (3) 1/25 ha (4) 1/50 ha

9. Presently the vegetable production in India is

(1) 156:33 mt (2) 13565 mt (3) 146-55 mt (4) 129:87 mt

(163) 2
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10. Presently the productivity of vegetable in India is
(1) 1730 t/ha (2) 17:39 t/ha (3) 1139 t/ha (4) 1170 t/ha

11. Yellow vein mosaic tolerant variety of Okra iu.

(1) Kashi Pragati . {2) Kashi Gaurav
(3) Parvani Kranti . {4) Pusa Sawani

12. In tomato the average sugar content is
(1) 5% (2) 6% (3) 8% (4) 4%

13. Seed pruduéﬁnn increases when the flower is_
{1) short styled ' (2) long styled
(3) pseudo short styled _ {4) midget styled

14. Which of the following has male and female flowers on separate plants?
(1) Pointed gourd {2) Bottle gourd
(3) Sponge gourd (4) Bitter gourd

15. Isolation distance in Chilies and Capsicum is -

(I) 50 m (2) 100 m (3) 200 m (4) 250 m

16. Seeds of tomato obtained from ha~! ares is
(1) 50~100 q ha™! (2) 200-220 q ha™!

(3 220-350 q ha™" 4) 100-150 q ha™!

(168 - - 3
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17. Which of the following is not sown/transplanted side by side?
(1) Tomato and brinjal (2) Cucumber and long melon

(3) Sponge gourd and ridge gourd (4) pea and cowpea

. 18. Cytoplasmic male sterility is found in
(1) tomato (2) ra‘dish (3} pea {(4) ash gourd

19. Which method is followed for the seed production of carrot?
(1) In situ - _ . (2) Stekling
(3) Seed i)lut technique ~ (4) Go-go method

20. Common Palak is also known as '
{1) Beta vulgaris bengalensis (2) Raphanus sativus

(3} Spinacia vulgaris o (4) Spinacia oleracea

41. Whiptail in cauliflower indicates
(1) hollow stem , _
(2) improper development of leaf blade
(3) plant without terminal bud |

* (4) development of small curd

L]

22. Choose the wrong pair

{1} Pusa Pragati—Cowpea (2) Pusa Sadabahar—Chilli
{3) Pusa Shakti—Ash gourd (4) Pusa Meghali—Carrot

(163) 4
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323. Which procedure is followed for stump method of seed production in cabbage?
{1} the head is kept as such :
(2) the out leaves of head are removed
(3) the head is removed and only sump is left

(4) a cross cut is given to the head

24. Incompatibility in cauliflower is

(1) gametophytic (2) sporophytic ~ (3) heteromorphic (4) homumn.rphic
25. The vegetable not belanging to monocotyledons is

(1) Chow-chow (2) Arvi {3) Leck (4) Garlic

26. Hollow heart in potato is due to
(1) moisture deficieney {2) excessive nitrogen

(3) poor ventilation : - (4) low temperature

27. Which of the following is the important source -of iodine?
(1) Tomato (2) Okra (3) Spinach (4} Tapioca

28. Choose the wrong pair
(1) Beet root (2n)=18 .{2) Carrot (2n)=18
(@ Onion (3n)=18 (4) Radish (27)=18

(163) - 5 (P.T.O)
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29. Length of the Surveyor’s chain is
(1) 150 f . (2) 100 ft (3) 33 ft " (4) 66 ft

30. The word forest is derived from

(1) Foris (2) Fores (3) Forees (4) Fories
31. The word forest is derived from language.
(1) Greek (2) Latin - (3) American (4) French

32. In case of natural uneven aged forests difference up to

% of the rotation is
usually allowed, where forest is not harvested for 100 or more. ~

(1) 20 (2) 30 3) 25 (4) 35

33. In high forest the regeneration is obtained by

(1) cuttings (2) grafting (3] seeds (4) budding

34. Pure forest are composed of almost entirely.of one species, usually to the extent of not
- less than

(1} 80 per cent (2) 75 per cent {3) 5SS per cent (4) S0 per cent

35. A reserve forest is an area with complete protection constituted according to the

(1) Indian Forest Act, 1927
(2) National Forest Policy, 1952
(3) Indian Wildlife Act, 1972

(4) National Commission on Agriculture, 1976

(163) - 6
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36. Which of the following is not a objective of social forestry?
(1) Meeting the fuel wood, fodder and small timber
(2) Protection of agriculture against wind - *
(3} Mecting the industrial needs

" (4) Meeting the recreational needs

37. Which of the following species produces oil secds?

(1) Madhica indica i (2) Shorea robusta
@ Only (1 ' (4) Both (1) and (2)
38. is host upecic; for Lac insect.
(1} Acacia mangium ‘ (2) Teak
(3) Butea monosperma (4) Leucaena leucocephala

39. Champion and Seth classification how many major groups of forest types are there?

(1) 6 - 2) 4 _ (3) 5‘ 4) 7

40. Cham.p'inn and Seth in ma,jnr groups have further grouped into groups.
M9 @) 12 (3) 16 @) 17

41. ﬁopioal.fm"uu ha;rc differentiated into groupi.
m 9 @ 8 @) 7 - wim

(163) ‘
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42. Diamond back moth is a serious pest of .
(1) rice (2) wheat (3) maize {4) cabbage

43. Match the following :

{a) Tropical forest | {i} Dry deciduous forests

(b} Montane subtropical {d) Hunalayan temperate forests
fc) Montane temperate (it} Dry alpine scrub

(d) Alpine + fiv}) Pine forest

() (@), (), o), (c) ) (a), (d), (c) ()

(3) (d) @) (a), (c) : {4) (@) (@), ) ()

44. The State having highest forest area is
(1) Sikldim (2) Madhya Pradesh

{(3) Karnataka {(4) Bihar

45. According to FAO, 90% of deforestation is caused by
(1) mining
(2) industrial plantati_m;
(3) unsustainable agriculture

{(4) construction of hydroelectric dams

(163} 8
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46. In most parts of the world, deforestation accelerated during
(1} 1980's (2) 1970’ (3) 1990’s (4) 1960’s

47. The word Social Forestry was coined by
(1) Raintree (2) Westoby (3) P. K. Nair (4) Brandis

48. What is not correct about home garden Agroforestry system?
(1) Humid tropical climates (2) . High rainfall
(3} Low rainfall (4) Multitier system

49. Which species is not suitable for dry land in Agroforestry system?
(1) Acacia tortilis (2} Zizyphus maurtiana
(3) Tectona grandis ‘ (4) Terminalia arjuna

BO. . Which species is.not suitable for Marshy soils?
(1) Terminalia arjuna (2) Leucaena leucocephala
(3) Eucalyptus camaldulensis (4) Gmelina arborea

51. Where is the ICRAF Centre situated?
(1} Nairobi (2) Indonesia (3) Rome (4) Pakistan

LY

$2. Which is the best specics for sand dune stabilization?
() Acacia auricutifrmis (2) Prosopis julifiora .
") Acsviy betills (4) Tectona grandis

163) 9 : (P.1.0.)
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53.

54.

58.

56.

(163)

The sustainable land use systems involving trees combined with crops and/or animals
on the same unit of land, is termed as

(1) Agroforestry
(2) Sustainable Forest Management
(3) Social Forestry

(4) Farm Forestry

When the use of land is directed towards satisfying basic needs and is managed by the
owner, is said to be

(1) Commercial Agroforestry Systems
(2) Intermediate Agroforestry Systems
(3) Subsistence Agroforestry Systems

(4) Social Agroforestry

Suitable Agroforestry System for wasteland is
(1) Agrisilviculture (2) Agrihorticulture

(3) Silvipasture | (4) Hortisilviculture

The practice of forestry in areas devoid of tree growth and other vegetation outside the
conventional forest areas is called

(1) ‘Social Forestry (2) Extension Forestry -

(3) Farm Forestry (4) Afforestation

10

L]
gcollegedunlae
India’s largest Student Review Platform

—



. 14P/300/29

87. is not a timber yielding tree species..

(1) Teak (2) Sissoo (3) Rose wood (4] Subabul

88. Which specics is known as Paragon of Indian timber?
(1) Teak (2) Arjun (3) Pine . (4) Mahua

59. Plantations grow as linér strips of lands on the sides of public roads, canals and
railway lines are called as

(1) Linear Strip Plantations (2) Commercial Forestry
(3) Avenue Plantations (4} Urban Forestry ,

60. Home Garden Agroforestry Systém is practiced in -
(1) humid tropical climates (2) semi-arid lands
(3) high lands ' (4} sub-humid low lands .

61. Secd potato dormancy is broken by

(1) Enthral (2) Thiourea 3) 1AA (4) NAA

63. Metsulfuron dose in wheat is
(1} 1-2 g a.i/ha (2) 5-6 g a.i/ha
(3) 100-150 g a.i/ha - (4) 500-1000 g a.i/ha

63. Enlargement of cotton fibres resulting in tiny knots in the yarn is called
(1) Count {2) Croppy ) Nippiness (4) Dazed fibre

(163) 11  (PT.0)
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area receiving rain.

64. In forecasting of rainfall the word ‘isolated rain’ denotes

(1) 1/5. (2) 1/4 3 1/3 4 1/2

65. When soil pH changes from 7-0 to 6:0, its H-ion conc. increases —— times.
{1y 1 (2) 10 (3) 100 (4) 1000

66. 5000 p.p.m. is same as %.

(1) 05 (2) 005 (3) 0-005 (4) 0-0005

67. The 17th nutrient added to the list of essential elements iis

" {1) boron (2) molybdenum (3) chiorine (4) nickel

68. Pegin groundnut is a stalk-like structure (nngmatmg from the meristemic region at the
base of the ovary) known as .

{1) Androphore (2) Gynophore

(3) Perianth (4) Androgynophore
69. The first State Agriculture University .of India is

(1) PAU, Ludhiana {2) GBPUAT, Pantnagar

(3) RAUT, Udaipur (4) GAU, Gujarat

70. ‘Dapog’ method of raising nursery is followed in-

(1) Tobacco (2) PRaddy (3) Bajra (4) Onion

(163) 12

L]
gcollegedunlae
India’s largest Student Review Platform

—



14P/300/29

71. Ifan economy is operating at an efficient l_ml: of production, then |
{1) labour is almost at full pinyment
(2) some resources are idle |
(3) the country is prodl‘ming the maximum output given the available resources

(4) there will always be some inefficiently used resources

73. One of the weaknesses of a centrally planned economy is all of the following, except
(1) underproduction of what consumer really want |
(2) chronic shortage of goods |
(3) low cost production of quality éooda tfmt ‘are in demands

(4) the rationing of goods

73. Wt;m Government subsidize irrigation water being purchased by farmers, the result is
(1) higher marginal costs of production
(2) lower fixed costs to farmers
 {3) increased output because marginal costs are lower’

(4) higher fixed costs to farmers

74. Which of the following is not generally a characteristics feature of agriculture?
(1) Ease of entry and exit " (2) Market power

{3) Homogeneous product (4) Artificial restraints on prices

(163) - 13 |  proy
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78.

76.

78.

(163)

The price elasticity of demand for ‘food’ is

(1) very elastic
(3) elastic

(2) relatively inelastic

'(4) inelastic

Which of the fnunnﬁné is consistent with farming as a competitive market?

(1) A small number of firms

(2} Marginal revenue lower than price for each firm

(3) Exit of small firms when profits are high for large firms

{4) Zero economic profit in the long-run

Which of the following is a capital good?

- (1) Water

(2) Skills and abilities of the workforce

(3) Crude oil

(4) Factory

Which of the following is not a factor of production?

(1) Water

(3} Risk taking individuals

{2) E(iuipment '

{4) Finished products

Inbrcéding depression is not a process of degeneration but a consequence of

(1) loss of out crossing

(3) Selfing

14

(2) Mendelian segregation

(4) breakdown of dominance

-
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80. Apparently the first inbreeding experiments with Maize were those reported by
(1} Darwin (1876) ' (2) Shull (1874)
(3) East {1914) (4) Hull (1876)

81. Moisture content for safe storage of cereal grain is to be maintained at

(1) 12-16% (2) 16-20% (3) 8-12% (4) 20-25%

82. Recommended dose of aluminium phosphide is

(1} 5 tablets/ton of grain (2) 6 tablets/ton of grain
{3) 10 tablets/ton of grain (4) 3 tablets/ton of grain

83. Scientific name of house rat is
(1) Rattus rattus (2) Tutera indica
(3) Musbooduga (4) Bandicota bengalensts

84. Which bioagent is used for the control of Parthenium weed?
(1) Zygogramma bicolorata (2) Coccinella septempunctata
(3) ‘Ihchoyramma sp. | {4) Chrysoperila carnea

8S. Insect pest control by irradiation is known as
(1) chemical control (2) biological control
) owlmasl ebmtrol” (4) physigal pomtrol
I : ‘ ; o S '-_‘

(163) ' 15 | (P.T.O.}
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86. Trichogramma chilonis is a

(1) parasite (2) predator {3) parasitoid " (4) pest
87. Insecticide is always to be applied at

(1) EIL stage (2) ETL

{(3) equilibrium position (4) damaged boundary

88. Mineral clement which is involved in stomatal movement is

(1) Ca (2 Mg - @K @) Mn

89. A plant has critical day length of 16 hours. The plant fails to flower if day length is
17 hours. On the basis of photoperiodic requirements the plant may be classified as a

(1) long-day plant (2) short-day plant

(3} lon'g-dayﬂshortnday plant (4) short-day-long-day plant

'90. Plants in which dark fixation of CO, takes place are

(1) C; plants (2) C4 plants (3) CAM plants (4} All plants

91. Pigments which prevent photo-oxidation of chlorophylls are

(1) Phycobillins~ {2) Carotinoids (3) Phytochromes (4) Cryptochromes

92. Extension teaching is

(1) horizontal  (2) vertical (3) paraliel (4) triangle

(163) _ 16
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93. River which has the highest groundwater potential basin in India is

(1) Godavari (2) Ganga . (3) Cauvery (4) Krishna

94. The arrangement of soil particles {(sand, silt and ciay) within the soil is termed as

(1) soil structure (R) s0il colloids (3) soil texture (4) soil tilth

98. The National Bank of Agriculture and Rural Development came into existence on

{1 1979 (2) 1981 (3) 1982 - (4) 1983

96. 1000 sced weight of Phalaris minor is

m40g () 228 3 4g @ 2¢

97. ‘Nomince gold’ herbicide is the trade name of

(1) Chlorimuron + Metsulfuron (2) Bispyribac sodium
. (3) Pyrozosulfuron ' " {4) Pretilachlor + Bensulfuron

' 98. The moisture content at which the wilting is complete and plant dic is called
(1) wilting point (2) -ultimate wilting point

{3) permanent wﬂung point (4) incipient wilting point

litres of water.

99. Onmne cubic-metre is equal to

L] ::

(1) 10 (2) 100 (3) 1000 ) B

v e

(163) . ‘ 17
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100. Indian Institute of Soil Science is located at
{1} Kamal, Haryana ‘(2) Bhopai, Madhya Pradesh
(3) - Kanpur, Uttar Pradesh (4) New Delhi

101. The WHO standard critical limit for NO,-N/litre in drinking water is mg/litre.

(1} S 2) 10 (3) 15 4) 20

102. The State having the highest area under wastelands in India is
(1) Rajasthan (2) Madhya Pradesh

(3) Jamfhu & Kashmir _ {4) Jharkhand

103. In conservation tillage, at least percent soil surface should be covered with crop

residue.

(1) 20 (2) 30 (3) 40 | {4) 50

104. Biotic environment includes
(1) soil |
(2) relative humidity a;ld sunlight
(3) rainfall and temperature

{4) producers, consumers and decomposers

105. Decomposers include

(1) bacteria and fungi {2) actinomycetes

(3) algae - ) (4) animais

(163) 18
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106. Abiotic enviromsnent does not include

(1) air {(2) ﬁt&r | (3) soil (4) plants

107. \fumimpost:ing is'done by
(1) fungus (2) bacteria (3) worms (4} animals

108. The group of organisms which convert light into food are called

(1) Autotrophs (2) Heterotrophs (3) Decomposers (4) Omnivores

109. Which one of the following is ﬁut biodegradable?
(1) Vegetables . (2) Pruits

(3) .Earthworm (4) Aluminium foil

110. Which bird is active at night?

(1) Parrot (2) Peacock (3) Sparrow (4) Owl

111. An animal that can tolerate the hc:_at of the desert is

(1) rats 2) camel (3) cow (4) lion

1%2. Air pollution is caused by
(1} insecticides  (2) sewage (3) smoke (4) loud speakers

113, If waate; materials contaminate the source of drinking water which of the following

-

@& Scury - {2) Typhoid (3) Malsria ¥4} iAmtenia .
.iilhm -_ 19
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114. In our country, the Van Mahotsav Day is observed on
(1) Second of October (2) First of December
(3) Tenth of August (4). First of July

115. Which of the following wastes cannot be decomposed by bacteria to form compost?
(1) Kitchen wastes {2) Plastic and polythene bags
(3) Dead plants (4) Bodies of insects living in the soil

11_6. Which of the following problems is not created by noise pollution?

(1) Diarrhoea (2} Hypprte_nainn (3) Deafness - (4} Imtation

117. Plants are green because of the presence of a pigment called

(1) glucose . {2) nitrogen {3} chlorophyll (4) oxygen

118. Air is composed of gases, water vapours and
(1} dust particles (2} rainfall (3} snowfall (4) light

119. Medicine of quinine is provided by
(1} Eucalyptus plant (2) Aconite plant
(3) Cinchona plant (4) Money plant

120. Chief source of energy in environment is

(1) fire (2) moon 3) sun (4) stars
* % %

.20 D/4(163}—400
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